Tie-Rod Air Cylinders
Click Picture to get dimensions & specifications

Bore Size ST
Part No. Cylinder Picture (mm) Length |Mounting Options Features Standard Options
(mm)
32
40
SC Tie-Rod gg Bottom Mount, Front Double Acting, Magnetic Piston
1€-RO 80 Max. 2000mm | Mount, Rear Mount, | S""9® ACting. Reverse| - Buna i Seal EPDM,
Cylinder 100 Universal g Viton Seals
Double Shaft
125
160
200
32
. 40 Max. 2000mm Double Acting, . Di
sY Enclosed Tie- 50 Bottom Mount, Front Single Acting, Reverse Buna-N Seal, LRI B
Rod Cviinder 63 Mount, Rear Mount, Acting Cushions EPDM,
y 80 Universal Double Shaft Viton Seals
100
BORE A Al A2 B C D E F G H | J K L M N (0] P Q R S T vV W z
32 140 | 187 182 47 93 28 32 15 275 22 17 6 M10X1.25 M6X1 9.5 135 18 35 75 7 45 33 12 12 21
40 142 | 191 | 185 | 48 93 32| 34 15| 275 24|17 | 7 M12X1.25 M6X1 9.5 135 | 1/4 6 8.2 9 50 37 16 | 14 21
50 150 | 207 196 57 93 38 42 15 275 32 23 8 M16X1.25 M6X1 9.5 135 14 85 82 9 62 47 20 17 23
63 153 | 210 | 199 | 57 96 38| 42 15| 275 32|23 8 M16X1.25 M8X1.25 9.5 135 38| 7 82 85| 75 56 | 20 | 17 23
80 183 | 258 243 75 108 47 | 54 21 33 40 26 10 M20X1.25 M10X1.5 115 165 3/8 10 95|14 94 70 25 22 29
100 189 | 264 | 249 | 75 114 | 47 | 54 | 21 33 40 | 26 | 10 | M20X1.25 M10X1.5 115 | 165 | 1/2 | 11 1 95 14 (112 84 | 25| 22 29
125 226 / / 104 122 55 70 34 33 54 40 10 M27X1.25 M12X1.75 155 165 1/2 / / / 140 110 32 27 /
160 291 / / 123 | 168 1 62 | 91 32| 50 | 72 55|18  M36X1.25 M16X2 17.5 25 1/2 / / / 180 | 140 | 40 @ 36 /
200 347 / / 167 180 80 112 55 50 72 55 18 M36X1.25 M16X2 17.5 25 34 |/ / / 220 175 40 36 /




A+ (Stroke)

C+ (Stroke)

an

@n

K (‘\ i
-r]::—-.— N e~ T T ey ™
H?‘ 3 J
W I
T e
a \ 2- (Buffer MWut) Q
A1+ (Stroke) K2
B L+ (Stroke) B+ (Stroke)
E F _j,__ﬁ (EJ:L. F E+T5trohe] n
H 2-0
il il
- o - 1
=m0 :
T o>, 2z 7
|- — — — | R, PR S — —
L3 z 3 = L 11
;./ T J -
I
L] e ———-—]
] \ 2= (Buffar Nut) [
A2+ (Stroke) X2+ (Adjustable Stroke)
B G+ (Strak
E E [} {Steone) G E (5troke) E?
H LN _ 2=0 N I
i .-il.- - ™y
= 0 o)
| —
- (¢
{_f___': || 5 I .. -4 [ | I ™ _@:'
L Fa 3 & ||
=~ > d [
W Iy,
_/ B — - — - — - — - — &3
Q \ 2= (Buffer Nut) [ Z+{Adustable Stroke) Py .
Mounting FRONT/REAR CLEVIS BRACKET | CLEVIS BRACKET SWING ROD CLEVIS with ROD CLEVIS with
Hardware FLANGE with PIN with PIN BRACKET PIN

MODEL FAJ/FB CA cB TC A Y




Cylinder Mounting Bracket Dimensions

ok

(]

" L] [
FHFB 5]
BORE | a2 E) 50 7 @ 100 [ 125 | 160 | 200  BORE 32 a0 50 K] ] oo | 1% 180 | 20
B 383 | 423 | 283 | 382 473 474 | &G [T &1 CC 12 19 19 19 7] 32 0 ] 80
BB 10 0 10 12 16 16 ] 25 5 W] 5 5 3 ] ] g = ] 20
BC 47 a2 itd} T o5 115 140 19 220 TE 1z 13 13 e ] =0 = il =0
BO kK] ) a7 %6 i B i T | 124 o o - e i i o - - .
BE 72 a4 104 | 116 143 162 | 24 | 280 | 320
BF 58 0 L] g T dze | &0 | a0 | 270 g: ;2 il :2 :2 gi zi 1-":3 19;0 195;.
BG 55 B5 | 65 | o5 1 11 15 il ]
e i i v i s . - - o PAl 41 52 &0 &0 4 74 | 1@ 170 | 1@
Al 8 65 | as | as " 1 12 7 17 FEI EES T 54 54 3 B6 1= 16z | 16z
BP T T g q 12 1z 16 15 a7 g E Al 3 h =1 12 140 180 2
T 33 7 a7 3 ] T | 1o | 1@ | 175 T 33 a7 47 56 F g4 | 110 140 | 1
TG
B
‘ | PIN
5 | e
| PA1
7 HiE ! | Y | AR
R | - 52
e I R =t
= e o K
o s
TG LB
BORE T an = an oo % 150 m BORE | 32 4 50 fi2 £ o | 1% 180 | 200
EB 13 | 126 1= 164 | faz 210 | 64 5% :::A :gi :z :g }: fgg f;g iﬁ g:g gi
ELC i3 7H & 114 132 160 200 240
= o o % o 7 i ryro T AD 05 i3 1z 1z 16 18 1 ] 30
AE B &7 i &0 ar Hz | 140 d80 | z@
EE 63 6 T 114 132 160 200 240 i 33 T - o5 o o 0 T
EG i I5 ] i il i 32 4 A ] iz 28 3 1] 30 & 1] 70
= 2 25 25 25 25 25 a2 3% Al 78 ] kT 41 £ 57 7] 115 13
ET 0 30 T 0 30 30 28 44 AP [ = Tz 1z i} iFs i3 iE 72
g % 56 £ g 10g 135 173 213 AT 32 | 22 3z 32 4 4 g ] 10
oA 5 :
e E 2 "
s 1 B -1 |
=3 |
. |_ TOE
— e Ld Vi . i "
— J— = i i |
L T =3 B ;
) 3 :
CA, Wi
BORE | 32 4 50 63 L 100 | 15 | 60 200 Mo [MB HC HD ME NF NG HH W [HK HM WP HO[PA PH
4 48 a0 B2 | 78 ™ N2 |1 ) W0 20 PeEtia (a1 a0 &2 15 |20 | wDW2s |12 |18 10 20 52 |26 20
i = = il il i D WM e |m 2% & ® & 24| | Mizuzs (@ |2 1z 24 82 |®% 2
(il E ! a4 34 & o) &0 5 Bl :
o = e e T = 5 5 =5 = 80 [32 |32 16 B4 = 33 (23| MIGKIS |27 |30 16 37 83 |30 33
oE 1z " = 3 o =0 = =D ap 1@ [z (32w e om0 32z | wieas |22 6 32 83 a0 3
oL 14 14 15 15 i 0 5 30 a0 [ @ [44 (40 @ @ 1z 40 30| mzmos a0 [0 w0 40 10s[s3 45
00 16 1] 0 0 kR 32 70 o0 o0 |00 (44 [40 @ =m0 11z 40 |30 | mamas (a0 |38 om0 40 10s[sz 45




